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ADMISSION CUM SCHOLARSHIP TEST

SAMPLE TEST PAPER

[For Students going to Class 12 in 2019]
[Stream: Medical] | COURSE OFFERED: Medical Countdown (MCD)

Time : 2 hours Maximum Marks: 240

INSTRUCTIONS

This Question paper contains THREE parts A to C (Physics, Chemistry and Biology).

General :

This Question Paper contains 14 pages.
This Question Paper contains total 60 questions.

The Question Paper has blank spaces at the bottom of each page for rough work.No additional
sheets will be provided for rough work.

Blank papers, clip boards, log tables, slide rule, calculators, cellular phones, pagers and electronic
gadgets, in any form, are NOT allowed.

This booklet also contains the OMR answer sheet (i.e., Amachine gradable Response Sheet).
Answering on the OMR:

Each question will have 4 choices in both the Sections, out of which only one choiceis correct.
Fill the bubble with Ball Pen (Blue or Black) ONLY.

Filling — Name and Registration No.

On the OMR sheet, write your Name and Registration No. using ball pen. Also, put your signature
in the appropriate box using ball pen.

Marking Scheme:

(@ For each question, you will be awarded 4 marks if you have darkened only one bubble
corresponding to the right answer.

(b) Incase you have not darkened any bubble, you will be awarded 0 mark for that question.

() Inall other cases, you will be awarded —1 mark.
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[2] SAMPLE PAPER (Medical Countdown)

PART-A: PHYSICS

1. There are two force vectors, one of 5N and other of 12N, at what angle the two vectors be
added to getresultant vector of 17N, 7N and 13N respectively —
(A)0°,180°and 90° (B)0°,90°and 180° (C) 0°, 90° and 90° (D) 180°, 0° and 90°

2. The force Fis given in terms of time t and displacement x by the equation

D
F = AcosB x + Csin Dt. The dimensions of E are
(A) moLoT® B) moLoT* ©C) moLTO D) moLiTt

3. At what angle to the horizontal should an object be projected so that the maximum height
reached is equal to the horizontal range?

(A)tan6=2 (B) tan6=4 (C) tan6=2/3 (D) tan6=3

4.  The velocity-time graph of a particle moving along a straight line is as shown in figure. Calcu-
late the distance covered betweent =0 tot =10 seconds.

el
> 4
0] 10
t(s)
(A) 10 m (B) 20 m (C) 60 m (D) 50 m

5.  Ariverisflowing from west to east with a speed of 5 m/min. Aman can swim in still water with
a velocity 10 m/min. In which direction should the man swim, so as to take the shortest
possible path to go to the south?

(A) 30° with downstream (B) 60° with downstream
(C) 120° with downstream (D) towards south

Space for rough work
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SAMPLE PAPER (Medical Countdown) [3]

6. Atacurved path of the road, the roadbed is raised a little on the side away from the center of
the curved path. The slope of the roadbed is given by
2
Vv

(D) tant —
rg

2
(A) tan™t vy (B) tan™t \r/—% (C) tan™t
r

V2

7.  Ablock of metal weighing 2 kg is resting on a frictionless plane. It is struck by a jet of water at
arate of 1 kgs™ at a speed of 5 ms=. The initial acceleration of the block is

2 5 1
(A) 5 ms— (B) 2 ms— (C) 5 ms=? (D) 5 ms—

8.  Ablock of mass m, lying on a rough horizontal plane, is acted upon by a horizontal force P
and another force Q inclined at an angle 6 to the vertical as shown. The block will remain in
equilibrium, if the coefficient of friction between it and the surface is

Q\aqg

I m
(A) (P +QsinB)/(mg+ Q cos 0) (B) (P cos 6 +Q)/ (mg— Q sin 0)
(C)(P+Qcos0)/(mg+ Q sin 0) (D) (Psin®—-Q)/(mg—Q cos 0)

9.  Anparticle is acted upon by a force of constant magnitude which is always perpendicular to the
velocity of the particle. The motion of the particle takes place in a plane. It follows that

(A) its velocity is constant (B) its acceleration is constant
(C) its kinetic energy is constant (D) itmoves in a straight line

10. Ablock of mass m=0.1 kg is released from a height of 4 m on a curved smooth surface. On
the horizontal smooth surface it collides with a spring of force constant 800 N/m. The maxi-
mum compression in spring will be (g = 10 m/s?)

4m K k=800N/m,,

(A)1cm (B) 5 cm (C) 10 cm (D) 20 cm

AN

Space for rough work
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11.

12.

13.

SAMPLE PAPER (Medical Countdown)

A 3 kg ball strikes a heavy rigid wall with a speed of 10 m/s at an angle of 60° with the wall. It
gets reflected with the same speed at 60° with the wall. If the ball is in contact with the wall for
0.2 s, the average force exerted on the ball by the wall is

Wall

(A)300 N (B) zero (C) 1503 N (D) 150 N

An inelastic ball is dropped from a height of 100 m. If 20% of its energy is lost, to what height
will the ball rise?

(A)80m (B) 40m (C) 60m (D) 20m

A thin circular ring of mass m and radius R is rotating about its axis with a constant angular
velocity o. Two objects each of mass M are attached gently to the opposite ends of a diameter
of the ring. The ring now rotates with an angular velocity o' =

_om o(m -+ 2M) o(m-2M)
A (m+2m) ® ©) “mraw

©®) m+wm)

Space for rough work
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SAMPLE PAPER (Medical Countdown) [5]

14. Two spheres each of mass M and radius R/2 are connected with a massless rod of length R
as shown in the figure. The moment of inertia of the system about an axis passing through
the centre of one of the spheres and perpendicular to the rod is

Y
M
P R/ M Q
RI2
——>
R
Y!
21 2 5 5
ZZMR? ZMR? ZMR? ~MR?
(A) 5 (B) 5 ©) 5 (D) 21

15. Two water pipes of diameters 2 cm and 4 cm are connected with the main supply line in
sereis.The velocity of flow of water in the pipe of 2 cm diameter is

1
(A) 4 times that in the other pipe (B) 2 times that in the other pipe

1
(C) 2 times that in the other pipe (D) > times that in the other pipe

16. Work done in splitting a drop of water of 1 mm radius into 64 droplets is (Surface tension of
water is 72 x 10-% J/m?)

(A) 2.0 x 106 J (B) 2.7 x 106 J (C) 4 x 10 ] (D)5.4 x 106 J

Space for rough work
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17.

18.

19.

20.

SAMPLE PAPER (Medical Countdown)

On a smooth inclined plane a body of mass M is attached between two springs. The other
ends of the springs are fixed to firm supports. If each spring has a force constant k, the period
of oscillation of the body is (assuming the spring as massless)

M 2M M sin© 2Msin©
(A) 2m > ®) 2m) = - © 2m|—, ©) 2=

A whistle giving out 450 Hz, approaches a stationary observer at a speed of 33 m/s. The frequency
heard by the observerin Hzis (speed of sound = 330 m/s)

(A) 409 (B) 429 (C) 517 (D) 500

If the temperature of the sun is increased from T to 2T and its radius from R to 2R, then the
ratio of the radiant energy received on earth to what it was previously will be

(A) 4 (B) 16 (C) 32 (D) 64

The root mean square velocity of the gas molecules is 300 m/s. What will be the root mean
square speed of the molecules if the atomic weight is double and absolute temperature is
halved?

(A) 300 m/s (B) 150 m/s (C) 600 m/s (D) 75 m/s

Space for rough work
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SAMPLE PAPER (Medical Countdown) [7]

PART-B : CHEMISTRY

21. XeFg fluorinates I, to IF, and liberates Xenon(g). 210 mmol of XeF4 can yield a maximum

of mmol of IF,‘ [7XeF; +3l, - 7Xe + 6IF, |
(A) 420 (B) 180 (C) 210 (D) 245
22. How many moles of potassium chlorate need to be heated to produce 11.2 litre oxygen at
N.T.P.
1 1 1 2
(A) £} mol (B) 3 mol © 7 mol (D) 3 mol

23. The correct set of quantum numbers for unpaired electrons of chlorine atom is

n { m
(A) 2 1 0
(B) 2 1 1
)3 1 1
(D)3 0O O

24. Which of the following does not characterise X - rays ?
(A) The radiation can ionise gases
(B) It causes ZnS to flurescence
(C) Deflected by electric and magnetic field
(D) have wavelengths shorter than ultraviolet rays
25. The root mean square speed of 8 g of He is 300 ms™ . Total kinetic energy of He gasis :
(A) 120J (B) 240J (C) 360J (D) None of these

26. Two glass bulbs A and B at same temperature are connected by a very small tube having a
stopcock. Bulb A has a volume of 100 cm?® and contained the gas while bulb B was empty. On
opening the stopcock, the pressure fell down to 20%. The volume of the bulb B is .

(A) 100 cm? (B) 200 cm? (C) 250 cm? (D) 400 cm?

Space for rough work
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27.

28.

29.

30.

31.

32.

SAMPLE PAPER (Medical Countdown)

The magnitude of work done in ergs for the reversible expansion of one mole of an ideal gas
from a volume of 10 Lto 20 L at 25° C is

(A) 2.303 x 298 x 0.082 log 2 (B) 298 x 107 x 8.31 x 2.303 log 2
(C) 2.303 x 298 x 0.082 log 0.5 (D) 2.303 x 298 x 2 log 2

One mole of an ideal gas expands isothermaly against a constant external pressure of 1 atm
from a volume of 10 dm? to a volume of 30 dm?. Calculate the work by the gas in joules

(A) —3039J (B) —4052J (C) -1013J (D) —2026J
consider a gas phase reaction 2SO, +0, = 2SO0, . If Py, ; P, and P, represent Equilibrium
partial pressue of respective substance. What will be expression of K for above reaction?

P2, P2 P P, P’ P2, P?

s0," 0, s0," o, so0,"" so,
(A) p2
Pso. P

(B) ~pz ©) ~p ® —p

SO, O,

The equilibrium constant (K_) for the reaction 2HCI(g) =H,(g)+Cl,(g) is 4x10* at 25°C.
What is the equilibrium constant for the reaction ?

~H,(9)+2Cl, (g) = HCI(g)
(A) 2x 107 (B) 2.5 x 10 (C) 5x10¢ (D) None of these
When 0.4 g of NaOH is dissolved in one litre of solution, the pH of the solution is —
(A) 12 (B) 2 (C)6 (D) 10

The hydrogen ion concentration and pH of the solution made by mixing 100 mL of 1.0 MHNO,
with 100 mL of 0.8 M KOH, are —

(A)[H]=0.1M,pH=1 (B) [H*]=0.01 M, pH =2
(C) [H*]=1x 102 M, pH = 12 (D) [H*]=1x 107 M, pH=7

Space for rough work
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SAMPLE PAPER (Medical Countdown)

COOH

33. CHs-C-0O (|3|—OCH3 IUPAC name of the compound is

|
O O

(A) 2-ethanoyl oxy-3-methoxycarbonyl cyclopropane carboxylic acid
(B) 2-methoxycarbonyl-3-ethanoyloxy cyclopropane carboxylic acid
(C) methyl-2-carboxy-3-ethanoyloxy cyclopropane carboxylate
(D) 2-methoxycarbonyl-3-carboxy cyclopropyl ethanoate

34. The correct basic strength order is :

CH,
NH\-/ e C\N /NH HN Cel
@/ \@/ CH3

A I>1>1v > (B)IV>III>II>I
©m=>1=>1v=>I O)M>IvV>1>I
35.  Which order of acid strength is wrong:
COOH COOH COOH
W) (0T 0®) » (0
SO;H COOH
COOH COOH COOH
YOG o) O
OCH; COOH

[9]

o)
I

v

Space for rough work
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SAMPLE PAPER (Medical Countdown)

36.

37.

38.

39.

40.

41.

42.

43.

Which of the following is the correct order of basic nature.

H N N
AQ>R>P B)YR>Q>P C)R>P>Q D)Q>P>R
Which of the following gaseous atoms has highest value of ionisation energy?
A P (B) Si (C) Mg (D) Al
Polarisability of halide ions increases in the order :
(A) F,I,Br,CI- (B) CI-,Br,I,F- (C) I,Br,CIF (D) F,CI,Br,I-
The correct order of bond length :
(A) F,<F, <F, (B) F, <F, <F, (C) F <F, <F, (D) F, <F, <F,
Which of the following order is correct?
(A) AgCI > AgF : (Covalent character) (B) BaO < BaF, : (Melting point)
(C) BeF, < BaF, : (Solubility) (D) LINO, > RbNQO, : (Thermal stability)

PART-C : BIOLOGY

Mango belongs to which Genus ?

(A) Indica (B) Mangiferaindica (C) Anacardiaceae (D) Sapindales
Each statement in the key is called :

(A) Lead (B) Statement (C) Couplet (D) None of these
Which is not correct for methanogens ?

(A) Presentin the gut of several ruminant animals such as cows and buffaloes

(B) They are responsible for the production of methanol

(C) They are responsible for the production of biogas from the dung of ruminant

(D) They are responsible for the production of methane

Space for rough work
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44. The common members of Deuteromycetes are :
(A) Albugo, Rhizopus and Mucar
(B) Agaricus, Ustilago and Puccinia
(C) Agaricus, Rhizopus and Alternaria
(D) Alternaria, Colletotrichum and Trichderma

45. The gametes are pyriform (pear-shaped) and bear two laterally attached flagella is commonly
foundin:

(A) Green alga (B) Brown alga (C) Redalga (D) Blue-green algae
46. Identify the (i), (ii) and (iii) :

Strobilus

Node

A '(.“ﬂ
Leaves A i E, *

w Internode
*:::ﬁ-—— Branch

i1

Rhizome

P ’}
> (ii)

(A) (i) Selaginella, (i) Equisetum, (iii) Azolla

(B) (i) Salvinia, (ii) Lycopodium, (iii) Azolla

(C) (i) Sphagnum, (ii) Lycopodium, (iii) Selaginella
(D) (i) Selaginella, (i) Equisetum, (iii) Salvinia

Space for rough work
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47. Selectthe true statement.
(i) Epiphyllous when attached to the perianth as in the flowers of Brinjal.
(i) Monoadelphous stamens presentin China rose.
(iii) Diadelphous stamens present in Pea.
(iv) Polyadelphous stamens present in Citrus.
(v) In Salvia and Mustard, variation in the length of filaments of stamens within a flower.
(A) (i), (i) and (iii) (B) (i), (ii), (i) and (iv)
(C) (i), (iii), (iv) and (v) (D) Allof these
48. ldentify given diagram and choose the correct answer for labelled part of given diagram.

(A) A-cortex, B-Epideris, C-Xylem, D-Phloem, E-Pith, F-Endodermis

(B) A-Cortex, B-Epidermis, C-Phloem, D-Xylem, E-Pericycle, F-Endodermis

(C) A-Cortex, B-Epidermis, C-Phloem, D-Xylem, E-Pith, F-Endodermis

(D) A-Cortex, B-Epidermis, C-Pith, D-Xylem, E-Pericycle, F-Endodermis
49. C,plants are adapted to :

(A) Hot and dry climate (B) Temperate climate

(C) Cold and dry climate (D) Hot and humid climate

Space for rough work
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50. Match the following and choose the correct option from those given below.
Column-A Column-B

(a) Molecular oxygen () o-Ketoglutaric acid

(b) Electron acceptor (i) Hydrogen acceptor

(c) Pyruvate dehydrogenase (i) Cytochrome C

(d) Decarboxylation (iv) Acetyl CoA
Codes :

(A) (@)-(i), (b)-(iii), (c)-(iv), (d)-(i) (B) (&)-(iii), (b)-(iv), (c)-(ii), (d)-(i)

(C) (@)-(ii), (b)-(i), (c)-(iii), (d)-(iv) (D) @)-(iv), (b)-(iii), (c)-(i), (d)-(ii)
51. Inthe given classification, Ais :

A
| | |
Agnatha Gnathostomata
(lacks jaw) (bears jaw)
SuperICIass
PiS(I:es Tetra||30da
(bear fins) (bear limbs)

(A) Chordata (B) Vertebrata (C) Craniata (D) Both (B) and (C)
52. From the group of following, identify those animals which have following two features :

(1) Presence of true coelom (2) Absence of chitinous cuticle

Group : Ascaris, Planaria, Locust, Earthworm, Neries, Pila.

(A) Locust and Pila (B) Earthworm and Neries

(C) Earthworm only (D) Neries, Ascaris and Planaria
53. Organic compound firmly bound to an apoenzyme to make it catalytically active :

(A) Coenzyme (B) Metalion (C) prosthetic group (D) Holoenzyme

Space for rough work
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[14] SAMPLE PAPER (Medical Countdown)

54. NAD and NADP actas.............. 1o andare ........... 2 attached to aponenzyme.
1 2
(A) Coenzymes Firmly
(B) Coenzymes Loosely
(C) Prosthetic groups Firmly
(D) Prosthetic groups Loosely
55. Human heartis :
(A) Myogenic and Endodermal (B) Myogenic and Mesodermal
(C) Neurogenic and Endodermal (D) Neurogenic and Mesodermal
56. Activation of sympathetic nervous system has following efffect on given characters :
Heart Rate Power ofVentricular contaraction Cardiac output
(A) Increase Increase Decrease
(B) Increase Decrease Decrease
(C) Decrease Increase Increase
(D) Increase Increase Increase

57. Human kidneys are located between the levels of following vertebra :

(A) TlO _Ll (B) le _Ls (C) Tz - I—5 (D) T4 - L1
58. Cellbodies of neurons can be observedin :

(A) Grey matter (B) White matter (C) Nerves (D) None of these
59. Which part of brain is located between thalamus and hindbrain?

(A) Cerebellum (B) Midbrain (C) Cerebrum (D) pineal gland

60. Which of the following is not the function of androgens in human?
(A) Synthesis of proteins and carbohydrates
(B) Stimulation of spermatogenesis
(C) Influence the libido
(D) Support of pregnancy

Space for rough work
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(©)
(©)
(A)
(A)

(B)
(©)
(A)
(A)
(A)

(B)
(B)
(A)
(©)
(B)
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50.
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ANSWER - KEY

PART - A: PHYSICS

(D) 3. (B)
(D) 7. (B)
() 11. (C)
A) 15. (A)
(D) 19. (D)
PART - B : CHEMISTRY
(B) 23. (C)
(D) 27. (B)
(D) 31. (A)
(D) 35. (C)
(D) 39. (B)
PART - C : BIOLOGY
A) 43. (B)
(D) 47. (C)
A) 51. (D)
(B) 55. (B)
A) 59. (B)

12.
16.
20.

24,
28.
32.
36.
40.

44,
48.
52.
56.
60.

(B)
(A)
(A)
(B)
(B)

(©)
(D)
(A)
(B)
(A)

(D)
(©)
(B)
(D)
(D)
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